
groupS(start, a, target) - groupSum
groupSH(index, a, sumSoFar, target) - groupSumHelper

a
0 1 2
2 4 8

gSH(3, a, 14, 10) gSH(3, a, 6, 10) gSH(3, a, 10, 10) gSH(3, a, 2, 10) gSH(3, a, 12, 10) gSH(3, a, 4, 10) gSH(3, a, 8, 10) gSH(3, a, 0, 10)

gSH(2, a, 6, 10) gSH(2, a, 2, 10) gSH(2, a, 4, 10) gSH(2, a, 0, 10)

gSH(1, a, 2, 10) gSH(1, a, 0, 10)

gSH(0, a, 0, 10)

✓ a[0] (+2) ✘ a[0] (+0) 

✓ a[1] (+4)

✓ a[2] (+8)

✘ a[1] (+0) ✓ a[1] (+4) ✘ a[1] (+0) 

✘ a[2] (+0) 
✓ a[2] (+8) ✓ a[2] (+8) ✓ a[2] (+8)

✘ a[2] (+0) ✘ a[2] (+0) ✘ a[2] (+0) 

gS(0, a, 10)

base case: index >= a.length && sumSoFar > target
base case: index >= a.length && sumSoFar == target

base case: index >= a.length && sumSoFar < target

Tracing Recursive Calls

group: {2, 8} group: {4, 8}

/


